Lect. 19: Transients in Transmission Lines

(Cheng 9-5.2, 5.3, 5.4) =
So far we have considered only sinusoidal steady—state responses for TLs

How about transient responses? Step responses
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Initially, the voltage wave “sees” only Ryon TL
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No further reflection in this
problem since impedance is
matched at the source side
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Initially, the inductor is open V_ (t=T)=V,
Z,(=Ry) |_%vL Finally, the inductor is short  V, (t=0)=0

In—between, inductor voltage changes
exponentially with time constant Ry/L
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FIGURE 9-29
Transient responses of a lossless line with a capacitive termination.
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FIGURE 9-29
Transient responses of a lossless line with a capacitive termination.
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